
MATHS

BOOKS - MAXIMUM PUBLICATION

MODEL PAPER 1

Example

1. In the figure, the area of 

 and  are  and 

. AB = 15 cm. 

△ AEC △ ECB 50cm2 75cm2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A3ghfd6P7W5q


What is the area of  

Watch Video Solution

△ ABC

2. In the figure, the area of 

 and  are  and 

. AB = 15 cm. 

△ AEC △ ECB 50cm2 75cm2

https://dl.doubtnut.com/l/_A3ghfd6P7W5q
https://dl.doubtnut.com/l/_gXQD0NJ9REhn


What is the length of  

Watch Video Solution

△ AE

3. Find value 

 . Find tha value of x.

Watch Video Solution

√5 × x = 5

https://dl.doubtnut.com/l/_gXQD0NJ9REhn
https://dl.doubtnut.com/l/_hQ5YjzOYSdLI
https://dl.doubtnut.com/l/_LzxR6a3jM1Ub


4. Find value 

 . Find the value of y.

Watch Video Solution

√3 + 2 + y = 4

5. Write the decimal form of sums of 

.

Watch Video Solution

+
1

4

1

25

6. Write the decimal form of sums of 

+ +
2

5

3

52

4

53

https://dl.doubtnut.com/l/_LzxR6a3jM1Ub
https://dl.doubtnut.com/l/_2aKQgClWe4Dk
https://dl.doubtnut.com/l/_9I05LaL5H7J5


Watch Video Solution

7. In the figure O is the center. Radius = 5cm.

AB = 8 cm. what is the perpendicular distance

from the center of the circle to AB. 

https://dl.doubtnut.com/l/_9I05LaL5H7J5
https://dl.doubtnut.com/l/_pqSaOVPQ3iqI


Watch Video Solution

8. The sum of two numbers is 54 and their

difference is 6 . Which are the numbers ?

Watch Video Solution

9. 15 can be written as the difference of

squares of two consecutive numbers. Find the

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_pqSaOVPQ3iqI
https://dl.doubtnut.com/l/_n8gC97Sv2wy9
https://dl.doubtnut.com/l/_nkNxOAGPFpU1


10. Draw a square of area 

Watch Video Solution

15cm2

11. Write 0.72 in fractional form.

Watch Video Solution

12. If a two digit number is divided by another

two digit number, we get 3.125. which are the

https://dl.doubtnut.com/l/_E6YDZmoymil3
https://dl.doubtnut.com/l/_dxLKKATjcMLB
https://dl.doubtnut.com/l/_i3vqawHUuiXG


numbers ?

Watch Video Solution

13. In the figure  ,  , 

 cm,  cm,  cm, 

. Find the length to MP and YZ. 


XY ∣ ∣ MN XZ ∣ ∣ MP

XY = 9 XZ = 10 NP = 4

MN = 4.5

https://dl.doubtnut.com/l/_i3vqawHUuiXG
https://dl.doubtnut.com/l/_5JCyMVN6rmGT


Watch Video Solution

14. Write the decimal forms equal to .

Watch Video Solution

, ,
1

5

1

8

3

4

15. If the length is  cm and breadth  cm 

What will be the perimeter ? 

√3 √2

https://dl.doubtnut.com/l/_5JCyMVN6rmGT
https://dl.doubtnut.com/l/_JNkMbt2gYWye
https://dl.doubtnut.com/l/_HntmvPTYK81a


Watch Video Solution

16. If the length is  cm and breadth  

What will be the area ? (  , ) 

Watch Video Solution

√3 √2cm

√2 = 1.4 √3 = 1.7

https://dl.doubtnut.com/l/_HntmvPTYK81a
https://dl.doubtnut.com/l/_G0WNMRec5SYq


17. Complete the following 

32.5 = ___

Watch Video Solution

/10

18. Complete the following 

______

Watch Video Solution

3 × + 7 × + 5 × =
1

10

1

100

1

1000

https://dl.doubtnut.com/l/_vmfDvZ3FsWIM
https://dl.doubtnut.com/l/_H3qIAYvZAlfc


19. Complete the following 

= ___

Watch Video Solution

1

20
/100

20. Complete the following 

___ = 

Watch Video Solution

3 12

100

https://dl.doubtnut.com/l/_PWPpN0asR5qu
https://dl.doubtnut.com/l/_vf1oICrQo5gM


21. perimeter of a rectangle is 40 cm. 

What is its length + breadth = _______

Watch Video Solution

22. perimeter of a rectangle is 40 cm. 

If the length is 6 cm more than the breadth

and if length is x cm. What is its breadth ?

Watch Video Solution

https://dl.doubtnut.com/l/_F1oQNWoTBARj
https://dl.doubtnut.com/l/_hFP7OwRcpd5W


23. ABCD is a square. Its diagonal = 4 cm. BDFE

is a square. what is the area of BDEF ?

Watch Video Solution

24. ABCD is a square. Its diagonal = 4 cm. BDFE

is a square. 

https://dl.doubtnut.com/l/_0XPoFS2zLy2h
https://dl.doubtnut.com/l/_Tg7YSLS1c3wc


Find the area of ABCD 

Watch Video Solution

25. ABCD is a square. Its diagonal = 4 cm. BDFE

is a square. 

https://dl.doubtnut.com/l/_Tg7YSLS1c3wc
https://dl.doubtnut.com/l/_Z9ol39NH9m2O


Find the area of ABCD 

Watch Video Solution

26. To find the decimal form of  :- 

 


1

7

= 1 + → 1
10

7

3

7

https://dl.doubtnut.com/l/_Z9ol39NH9m2O
https://dl.doubtnut.com/l/_Bsp41JezHdsM


 


Through this process we get the first two

digits. By continuing this process find the next

4 digits.

Watch Video Solution

= 4 + → 4
30

7

2

7

27. If 3 times of Raju's age is added with

fathers age, it is 72. if 2 times of father's age is

added with Raju's, it is 74. Find this ages.

Watch Video Solution

https://dl.doubtnut.com/l/_Bsp41JezHdsM
https://dl.doubtnut.com/l/_Jq4kl0wdsU84
https://dl.doubtnut.com/l/_ckR6NbQm1u7j


28. Draw a triangle with sides 6 cm, 8 cm, 9 cm.

Divide triangle into 4 equal triangles having

the same area.

Watch Video Solution

29. In the figure small triangles are drawn

joining the mid points of large triangle. 

https://dl.doubtnut.com/l/_ckR6NbQm1u7j
https://dl.doubtnut.com/l/_9kyH3qRQ8sEi


Find the length of sides of large triangle. 

Watch Video Solution

30. In the figure small triangles are drawn

joining the mid points of large triangle. 

https://dl.doubtnut.com/l/_9kyH3qRQ8sEi
https://dl.doubtnut.com/l/_6vTKwfgioY7K


Find the perimeter of large triangle. 

Watch Video Solution

31. In the figure small triangles are drawn

joining the mid points of large triangle. 

https://dl.doubtnut.com/l/_6vTKwfgioY7K
https://dl.doubtnut.com/l/_u6JGoRPwRELf


What is the specialty of small triangles ? 

Watch Video Solution

32. In the figure D is the midpoint of BC. AE:ED

= 2:1. Area of . 
△ BDE = 15cm2

https://dl.doubtnut.com/l/_u6JGoRPwRELf
https://dl.doubtnut.com/l/_5iKY7ZP7DSqK


What is the area of  


Watch Video Solution

△ BEA

33. In the figure D is the midpoint of BC. AE:ED

= 2:1. Area of . 
△ BDE = 15cm2

https://dl.doubtnut.com/l/_5iKY7ZP7DSqK
https://dl.doubtnut.com/l/_YY90FdfPQGB2


What is the area of  


Watch Video Solution

△ ADC

34. In the figure D is the midpoint of BC. AE:ED

= 2:1. Area of . 
△ BDE = 15cm2

https://dl.doubtnut.com/l/_YY90FdfPQGB2
https://dl.doubtnut.com/l/_2PsyAhgJVnoP


What is the area of  


Watch Video Solution

△ ABC

35. In the figure AB = PQ, PR = 2 cm 

Find the length of PQ, AB 

https://dl.doubtnut.com/l/_2PsyAhgJVnoP
https://dl.doubtnut.com/l/_c1UeyzkjTBPt


 


https://dl.doubtnut.com/l/_c1UeyzkjTBPt


Watch Video Solution

36. In the figure AB = PQ, PR = 2 cm 

Find the length of QR. 

https://dl.doubtnut.com/l/_c1UeyzkjTBPt
https://dl.doubtnut.com/l/_7HTnZuZY5kmE


 


https://dl.doubtnut.com/l/_7HTnZuZY5kmE


Watch Video Solution

37. In the figure AB = PQ, PR = 2 cm 

Find the area of  to correct to cm. 
△ ABC

https://dl.doubtnut.com/l/_7HTnZuZY5kmE
https://dl.doubtnut.com/l/_CXqHyctoq058


[  ] 


 


√2 = 1.41

https://dl.doubtnut.com/l/_CXqHyctoq058


Watch Video Solution

38. Prove 

Watch Video Solution

(2 + √3)(2 − √3) = 1

https://dl.doubtnut.com/l/_CXqHyctoq058
https://dl.doubtnut.com/l/_EeWHpIVFCb2G


39. Find the value of  to 2 decimal

places.

Watch Video Solution

1

2 + √3

40. Find the value of  to 2 decimal

places. 

[ ]

Watch Video Solution

1

2 − √3

√3 = 1.73

https://dl.doubtnut.com/l/_EeWHpIVFCb2G
https://dl.doubtnut.com/l/_vTGmCh9r1ucj
https://dl.doubtnut.com/l/_J0OxUVxzG7Nj
https://dl.doubtnut.com/l/_KQU7xrGM6BLm


41. Circle with radius 13 cm is drawn. 

Two chords of length 10 cm and 24 cm are

drawn parallel on both sides of the center.

Find the distance between the chords.

Watch Video Solution

42. Circle with radius 13 cm is drawn. If AB and

CD are two parallel chords of length 24cm and

10cm respectively on the same side of the

center, find the distance between them.

Watch Video Solution

https://dl.doubtnut.com/l/_KQU7xrGM6BLm
https://dl.doubtnut.com/l/_XHX5fJrSbm3b


43. If the length of a rectangle is increased by

2m and breadth decreased by 1m, the area will

decrease by . If the length is decreased by

3m and breadth increased by 3m area will

increase by . 


If the length is taken as X , and breadth Y. Find

the area of first rectangle.

Watch Video Solution

6m2

9m2

https://dl.doubtnut.com/l/_XHX5fJrSbm3b
https://dl.doubtnut.com/l/_QiMwRKwskWmg


44. If the length of a rectangle is increased by

2m and breadth decreased by 1m, the area will

decrease by . If the length is decreased by

3m and breadth increased by 3m area will

increase by . 


Form two equations with X and Y.

Watch Video Solution

6m2

9m2

45. If the length of a rectangle is increased by

2m and breadth decreased by 1m, the area will

https://dl.doubtnut.com/l/_1hCKchJEvwQN
https://dl.doubtnut.com/l/_9fnG9N92l1Ou


decrease by . If the length is decreased by

3m and breadth increased by 3m area will

increase by . 


Find the length and breadth.

Watch Video Solution

6m2

9m2

46. Draw a line of length 6.5 cm. Divide it in the

ratio 3:4.

Watch Video Solution

https://dl.doubtnut.com/l/_9fnG9N92l1Ou
https://dl.doubtnut.com/l/_8pK1f1bVGYJ8


47.  


 


 


Write the decimal form of  ,  , 

Watch Video Solution

− = a
2

9

2

10

− = b
2

9

22

100

− = c
2

9

222

1000
2

10

22

100

222

1000

48.  


 


 


In a, b, c Which is the smallest value.

− = a
2

9

2

10

− = b
2

9

22

100

− = c
2

9

222

1000

https://dl.doubtnut.com/l/_PNvTDKkQ9r9Q
https://dl.doubtnut.com/l/_t1shNFiNxT7E


Watch Video Solution

49.  


 


 


Write the fractional form of a, b, c

Watch Video Solution

− = a
2

9

2

10

− = b
2

9

22

100

− = c
2

9

222

1000

50.  


 


− = a
2

9

2

10

− = b
2

9

22

100

https://dl.doubtnut.com/l/_t1shNFiNxT7E
https://dl.doubtnut.com/l/_fpi7Uo3XM49m
https://dl.doubtnut.com/l/_8VnhPt6d7phB


 


Write the decimal form of .

Watch Video Solution

− = c
2

9

222

1000
2

9

51. In the figure ABCD is trapezium. Diagonals

meet at the point E. Area of

 , Area of  is 

. 


What is the relation between the area of

△ CED = 16cm2
△ AED

36cm2

https://dl.doubtnut.com/l/_8VnhPt6d7phB
https://dl.doubtnut.com/l/_0i0En03t50B9


 and  


Watch Video Solution

△ AED △ BEC

52. In the figure ABCD is trapezium. Diagonals

meet at the point E. Area of

 , Area of  is 

. 


△ CED = 16cm2
△ AED

36cm2

https://dl.doubtnut.com/l/_0i0En03t50B9
https://dl.doubtnut.com/l/_diOiBHu87Bp0


In  , AE:EC = _ 

Watch Video Solution

△ ADC

53. In the figure ABCD is trapezium. Diagonals

meet at the point E. Area of

 , Area of  is 

. 


△ CED = 16cm2
△ AED

36cm2

https://dl.doubtnut.com/l/_diOiBHu87Bp0
https://dl.doubtnut.com/l/_3xkcYeszv9bD


In  , AE:EC = _ 

Watch Video Solution

△ ABC

54. In the figure ABCD is trapezium. Diagonals

meet at the point E. Area of

 , Area of  is 

. 


△ CED = 16cm2
△ AED

36cm2

https://dl.doubtnut.com/l/_3xkcYeszv9bD
https://dl.doubtnut.com/l/_yFoQHxyAPfyO


Find the area of  ,  

Watch Video Solution

△ AED △ BEC

55. Note the specialities of fractional numbers.

It can be written as 

 


 


1 − = =
1

2

2 − 1

1 × 2

1

1 × 2

− = =
1

2

1

3

3 − 2

2 × 3

1

2 × 3

https://dl.doubtnut.com/l/_yFoQHxyAPfyO
https://dl.doubtnut.com/l/_KLFjbsnwQ7Kw


 


now answer the following. 

____

Watch Video Solution

− = =
1

3

1

4
4 − 3

3 × 4

1

3 × 4

− =
1

4

1

5

1

56. Note the specialities of fractional numbers.

It can be written as 

 


 


 


1 − = =
1

2

2 − 1

1 × 2

1

1 × 2

− = =
1

2

1

3

3 − 2

2 × 3

1

2 × 3

− = =
1

3

1

4
4 − 3

3 × 4

1

3 × 4

https://dl.doubtnut.com/l/_KLFjbsnwQ7Kw
https://dl.doubtnut.com/l/_x746Zo72Jtkk


now answer the following. 

 find X and Y

Watch Video Solution

= −
1

5 × 6

1

x

1

y

57. Note the specialities of fractional numbers.

It can be written as 

 


 


 


now answer the following. 

____

1 − = =
1

2

2 − 1

1 × 2

1

1 × 2

− = =
1

2

1

3

3 − 2

2 × 3

1

2 × 3

− = =
1

3

1

4

4 − 3

3 × 4

1

3 × 4

+ =
1

1 × 2
1

2 × 3

https://dl.doubtnut.com/l/_x746Zo72Jtkk
https://dl.doubtnut.com/l/_A2XdTZSD4Dxy


Watch Video Solution

58. Note the specialities of fractional numbers.

It can be written as 

 


 


 


now answer the following. 

______

Watch Video Solution

1 − = =
1
2

2 − 1
1 × 2

1
1 × 2

− = =
1
2

1

3

3 − 2

2 × 3

1

2 × 3

− = =
1

3

1

4
4 − 3
3 × 4

1

3 × 4

+ + =
1

1 × 2

1

2 × 3

1

3 × 4

https://dl.doubtnut.com/l/_A2XdTZSD4Dxy
https://dl.doubtnut.com/l/_fRSPHQ8CbO3j


59. Note the specialities of fractional numbers.

It can be written as 

 


 


 


now answer the following. 

____

Watch Video Solution

1 − = =
1

2

2 − 1

1 × 2

1

1 × 2

− = =
1

2

1

3

3 − 2

2 × 3

1

2 × 3

− = =
1

3

1

4
4 − 3

3 × 4

1

3 × 4

+ + + .... =
1

1 × 2

1

2 × 3

1

3 × 4

1

99 × 100

https://dl.doubtnut.com/l/_IGVnmA73JOTn


60. Note the specialities of fractional numbers.

It can be written as 

 


 


 


now answer the following. 

_____

Watch Video Solution

1 − = =
1

2

2 − 1

1 × 2

1

1 × 2

− = =
1

2

1

3

3 − 2

2 × 3

1

2 × 3

− = =
1

3

1

4
4 − 3

3 × 4

1

3 × 4

+ + .... . =
1

1 × 2

1

2 × 3

1

n × (n + 1)

https://dl.doubtnut.com/l/_ZBLwk2mUq2YY

